integral - test 2 solutions ; 7.1 basic integration rules January 13, 2014

Test #2

1. Find the value(s) of ¢ guaranteed by the Mean Value Theorem for Integrals for the function over the indicated
interval.

flx)=1+x% , [-1,2]

Mean Value Theorem for Integrals:
If a function f is continuous on the closed interval [a, b], then there exists a number c in the closed interval [a, b]

such that

j ) dx = f(e)(b — a)
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2. Find the average value of the function over the interval.

fx)=4—x2 , [-2.2]

Average value of a function on an interval:
If f is integrable on the closed interval [a, b], then the average value of f on the interval is

—J- f(x)dx
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3. Find F'(2). Test#
x+2 1 2
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The Second Fundamental Theorem of Calculus:
If f is continuous on an open interval [ containing a, then, for every x in the interval,

Fiex)= [ rod| - reo
- secG) 2% %’Lﬂ]

f®ydt| = f(g(x)) Q'UC)

J:f(x)dx = —J:f(x)dx 5\ S S
4. Evaluate the definite integral.
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Find the indefinite integral. Test #2
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Test #2

Bonus: Test #2

A. Find a function f suchthat f(1) = 0and f'{x) = 2;
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B. Express the limit as a definite 1ntegral and evaluate. lim 21_1 Z
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C. Find the interval on which the curve f(x) = fgﬁitzdf is concave upward. Test #2
oo~ |
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Homework:

e 6.1#1-9 0dd:; 19, 43

e 6.2#11,13,17,19, 21, 25, 29, 35
e 6.4#5,67, 613, 33, 35

e 7.1#5-53 odd
e 7.2#1-350dd
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